Rivet 3.1.0, = 7.1M events

_ 7000 GeV pp Jets
> 103 E'_' 1T 717 7T | Tt TTT | Tt T T T | T Tt T T T | 'I_:
& = _ =
Q - Trimmed Jet Mass (anti-k_(0.7), 2450<p_<500, |y|<2.5) -
— — _]
el 2 | ]
1 E
= : 7
t 10 & —
HI = E
é S -
2 1 = .-;'7 =
%\ = -
N — ]
b10t = =
o = =
Q — -
= — _]
10_2 = =
10° e m CwMmS —
— --f3-- Herwig 7.1.4 default 3
g T Pythia 8.230 default -
10 = ¢ Sherpa 2.2.8 default =
107 & —
= | | | | | | [y | [ | | | | | —
SCLEE L B R -
2 B0 =
0 L B
LE) - - _
2 1L o (3¢ N
= ti--=F 7 7]
2 . T Hg-a -
< L - - B
o Sy v T
- S ’ i
05 ]
l L L L L l L L I T B P T T R T T T [ .
0 50 100 150 200

(m_1+m_2)/2[GeV]

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


